GB

ofrans’? ...

Via Philips 5 20052 Monza ITALY

S.r.l.

KOBRA

MOUNTING , OPERATION AND MAINTENANCE INSTRUCTIONS

ISTRUZIONI PER INSTALLAZIONE ,USO E MANUTENZIONE

ISTRUCTIONS DE MONTAGE, UTILISATION ET MAINTENANCE

INSTALLATIONS-,BEDIENUNGS- UND WARTUNGSHANDBUCHER
FUR BOOTEINGENTUMER

INSTRUCIONES PARA MONTAJE, USO Y MANTENIMIENTO

Important additional
informations

Warranty

Model classification

Electric plant

Informazioni sulla sicurezza
Garanzia

Identificazione del modello
Impianto elettrico

Informations concernant la sécurité
Garantie

Model classification

Branchement électrique

Wichtige zusatzinformationen
Garantie

Modellbeschreibung
Elektrische verbindungen

Informacion sobre securidad
Garantias

Identificacion del modelo
Instalacion eléctrica

safety

pg.2

pg.2
pg.2
pg.2

pg.5
pg.5

Pg.5

pg.8
pg.8
pg.8
pg.8

pg.11
pg.11
pg.11
pg.11

pg.14
pg.14
pg.14
pg.14

Installation

Operations
Maintenance
Ordering spare parts

Installazione

Uso

Manutenzione

Modalita di richiesta ricambi

Notice d’ installation

Utilisation

Entretien

Commande de pieces detachées

Einbauhinweise
Betriebsanleitung
Warturng
Ersatzteilbestellung

Montaje

Uso

Mantenimiento

Como pedir recambios

pPg.3

pg.4
pg.4
pg.4

pg.6
pg.7
pg.7
pg.

Pg.9
pg.10
pg.10
pg.10

pg.12
pg.13
pg.13
pg.13

pg.15
pg.16
pg.16
pg.16

Parts list

Wiring diagram
Exploded diagram
Lofrans sales organization

Lista dei componenti
Schema elettrico
Disegno esploso
Organizzazione Lofrans’

Nomenclature des piéces

Schéma électrique
Eclaté des pieces
Distributeurs Lofrans’

Teile liste
Schaltplan
Ersatzteilliste
Lofrans’ Handlerliste

Depiezo de los molinete
Esquema eléctrico
Esquema de piezas
Organizacion Lofrans’



IMPORTANT ADDITIONAL INFORMATION CONCERNING SAFETY ASPECTS OF YOUR ANCHOR WINDLASS m

WARNING ! your windlass is not designed as a strong point to fasten your anchor rode (chain or rope) to when the boat is laying on it's anchor and
surging. The anchor rode must be fastened to a strong point such as mooring cleat, bollard or chain storage.

WARNING ! do not exceed a pulling load more than the rating of your windlass. The vessel’'s engine be running and used to assist in the anchor
recovery.

WARNING ! always install the properly rated circuit breaker to protect the electric plant and electric motor from overheating and damages.

WARNING ! when not in use be sure to keep the anchor windlass circuit switch in the Off position to prevent accidental engagement of the windlass.
WARNING ! always keep your hands, feet and fingers clear of an operating windlass. If a jam occurs use extreme caution and turn off the windlass
circuit before attending to clearing the anchor rode.

WARNING ! do not use the windlass for different purposes it was designed for.

WARRANTY

Lofrans' S.r.l. warrants its products for a period of one (1) year from the date of purchase against defects in materials or workmanship , under normal
use and service. Any part which proves to be defective in normal usage during that one year period will be repaired or replaced by Lofrans’. This
warranty is subjected to the conditions listed below.

Lofrans' liability shall be limited to repair or replacement of the part defective in materials or workmanship.

Lofrans shall not be liable in any way for failures due to use of products in applications for which they are not intended , improper installation , misuse
,incorrect maintenance , corrosion , normal wear and tear , discoloration and unauthorised alteration of the product, conditions that exceed the product
's performance specifications.

The claim of warranty must be promptly notified in writing , to Lofrans or Lofrans’ authorised distributor, providing proof of purchase. Repair will be
under taken upon return of the defective part , freight prepaid to Lofrans or Lofrans authorised distributor. Lofrans or its authorised distributor will not be
responsible for any shipping charges or labour cost associated with any warranty claims. Lofrans shall not be liable for consequential damages to yachts
, equipment or other property or persons due to use or installation of Lofrans equipment. Implied warranties are limited to the life of this warranty. All
incidental and/or consequential damages are excluded from this warranty. Some states do not allow limitations on how long an implied warranty lasts or
the exclusion or limitation of incidental or consequential damages , so the above limitation or exclusions may not apply to you.

Lofrans’ reserves the right to disclaim the warranty in case the windlass is controlled by not suitable electric accessories and/or in case of
non installation of a proper circuit breaker on the windlass electric line.

MODEL CLASSIFICATION

FOR YOUR OWN SAFETY PLEASE READ THESE INSTRUCTIONS BEFORE INSTALLING OR OPERATING YOUR WINDLASS.
Fill in this form to obtain a complete classification of the installed model.

MOTOR 700 Watt 12 Volt O 700 Watt 24 Volt |
1000 Watt 12 Volt O 1000 Watt 24 Volt |
CHAIN & 61so-6Din 766 - 1/4” O @ 10 1so - 10 Din 766 O
AVAILABLE & Tlso-1/4" G40 O @ 3/8” - 3/8” Din 766 |
& 8lso -8 Din 766 - 5/16” O @ 3/8” G40 O
& 5/16” G40 O & 3/8” BBB O
OPTIONAL Free Fall version O

PURCHASE DATE & PLACE

NOTES

SERIAL NUMBER

ELECTRIC PLANT

Check that the motor tension corresponds to the electric plant on board. The following table shows the suggest minimum battery feeding the windlass ,
the minimum suggested cable section and the proper circuit breaker to install on the power line.

MOTOR BATTERY CABLES SECTION CIRCUIT BREAKER
700 Watt 12V 100 Ah 25 mm? 3 AWG 70 Amps
700 Watt 24 V 70 Ah 16 mm? 4 AWG 35 Amps
1000 Watt 12V 150 Ah 35 mm? 2 AWG 100 Amps
1000 Watt 24 V 90 Ah 25 mm? 3 AWG 70 Amps

If the windlass is fed by an inferior battery , the performances will be worse and the battery will be subject rapidly to wear and tear. We recommend to
use excellent quality cables , insulated and heat resistant. It is important underline the cables section should be increased of 30% - 50% approx., if the
length of the extended cable , positive and negative , is greater than 10 mts. or 29' length. The cables connected to the electric controls , shown on the
wiring diagram as a thin line , should have a section of 1.5 mm?or 16 AWG approx.

Circuit breaker informations referring only to LOFRANS’ circuit breaker so they could be incorrect for other circuit breakers.

The circuit breaker protects from very dangerous short circuits , protects the windlass motor , avoiding damages due to anomalous absorption and
interrupts the tension , when desired. The circuit breaker must be installed in a dry , accessible and visible position . For safety reasons we recommend
that the windlass and remote controls are isolated during navigation and reactivated when anchoring. Install the control box preferably in a dry place on
board. We recommend to install at least two remote controls to drive the windlass in case one of them gets damaged.

For protection of electric remote controls, it will be necessary to install a circuit breaker of 5 Ampere.

We recommend You to use original LOFRANS' components only , which are designed for sea water purpose. LOFRANS equipment
conforms to European Directives, products are CE approved.



INSTALLATION

Check if the windlass is complete in every parts. If any parts is missing or damaged , please contact your dealer.

TOOLS AND MATERIALS
REQUIREMENTS

Drill & 9 mm (3/8”), Spanner 10 mm A/F - 13 mm A/F
Jig Saw, Power Drill , Silicone Sealant

The electric motor of the windlass is able to operate under spray conditions ; however , if submerged , it could be irreparably damaged.

L

Check there are no deck obstructions. Be sure there is ample room to enable you to
use the handle (352). In order to facilitate maintenance operations Lofrans suggest to
install the windlass on a removable panel fixed on the deck by bolts. If the deck is too
thin or inadequate , it will be necessary to use a backing pad (plywood , timber ) of
sufficient dimensions to spread the stress imposed during recovery of chain. To avoid
electrolysis problems do not use stainless steel pad as backing pad. For boats
of steel or aluminium , it is very important insulated the windlass from the deck with
the non conductive gasket.

The windlass must be placed where the chain locker has the max depth.

Ensure the chain locker is of sufficient capacity to store all the chain and leave a
minimum of 400 mm (16") between underside of the deck and the top of the heaped
chain.

The windlass must be located with the gipsy in line with the bow roller.

The chain must turn around the gipsy with a rotation of 90° approx.

When the position has been set , drill the holes. Fit the windlass on the deck using
bolts and nuts M10 or equivalent in stainless steel.

Join the electric cables from the control box and the battery to the electric motor as
the wiring diagram shows.

Introduce the chain into the gipsy , operate the "UP" switch of the foot switch or
remote control and the chain will automatically be fed into your locker.

Take care to keep hands and feet well clear of incoming chain. If the windlass runs
in wrong direction , change over M1 and M2 cables at the control box.

After using the windlass , we strongly recommend that the nuts are checked again
to ensure they are well tightened.




OPERATIONS | GB |

WARNING ! = Do not approach with hands or feet near the gipsy and chain , when operating.

WARNING ! = When the windlass is not in use or before use the handle , turn off the windlass at the main switch .

WARNING ! = Engage the chain stopper after anchoring. Windlass must not be used as sole means securing anchor in bow fitting. Anchors
should be independently secured to prevent accidental release .

WARNING ! = Be sure the clutch and the chain stopper are well engaged before boating.

Gipsy Clutch Operation

Gipsy is connected at the main shaft (329) by a clutch , items (318 and 277).

To engage the clutch insert the handle supplied into the wingnut (317) and tighten it until you cannot move the handle any more.
To disengage the clutch loose the wingnut.

Raising The Anchor

Start the engine of the boat. Be sure that the clutch is well engaged. Draw out the handle from wingnut.

Push the button "UP" of the foot switch or remote control. Do not use the windlass to pull the boat to the anchor.

Release the button "UP" to stop the manoeuvre.

When you haul the last metres of the chain , pay attention to the anchor, which may damage the bow of your boat.

If case the anchor be stranded and the Lofrans circuit breaker gets released , wait some minutes before put it back into service and try the manoeuvre
once more. Should the circuit breaker stop again , we suggest to fix the chain to a cleats or bollard , then use the boat engine to break the anchor
loose.

For your safety we strongly recommend to turn OFF the circuit breaker and engage the chain stopper during navigation. Reactivate the circuit breaker
and disengage the chain stopper before anchoring.

Lowering The Anchor

When you wish to lower the anchor very quickly , it is necessary disengage the clutch. The gipsy may freely run on its shaft and release the chain
into the water. The chain fall can be controlled tightening the gipsy cap with the handle . At the end of the operation engage the clutch.

Under usual conditions , we suggest to lower the anchor electrically , pushing the button "DOWN" placed on the remote control or foot switch.

You will have always a perfect control of the manoeuvre , which can be interrupted any moment releasing the button "DOWN" .

Once anchored , we suggest in order to reduce the windlass load , to use a chain stopper and fix the chain with a rope to a strong point as a cleat.

Use Of The Drum Independently From The Gipsy
Stop the run of the chain , fasten it to a strong point as a chain stopper or similar. Disengage the clutch. Turn clockwise around the drum with two laps of
rope. Keep the end of rope. Push the button "UP" , recovering the rope at the same time. Engage the clutch at the end of the operation.

Raise The Anchor In Case Of Emergency

Insert the handle into the emergency wheel (340). Draw it forward and backwards alternatively. As there is no ratio , please keep in mind in case of deep
anchoring the stress will be hard.

MAINTENANCE

WARNING ! = Before operate turn the windlass off at the main switch and remove with attention the chain from the gipsy .

A correct and periodic maintenance operation is essential for the best efficiency of your windlass. At least once every month remove the salt layer ,
which forms periodically on the outer casting , to avoid electrolysis problems which could prejudice the windlass performances. Wash with a fresh
water and clean all the surfaces , particularly in the most hidden points , where salts deposits. We recommended , at least once every six months , to
disassemble the windlass gipsy following the instructions below.

Remove (316). Using the handle unscrew (317), remove (318) then unscrew (217) , remove (226 and 335). Remove (276) and extract (277).

Clean and check all the parts , spray all with CRC 3097 "LONG LIFE" or WD40. Watch if there are no electrolysis traces and grease the main shaft
thread.

After a long inactivity period , the electric motor could run slowly. We recommend to check and clear the brushes and replace it if necessary.

We strongly recommend to separate , at least once every year , the windlass from the deck to clean and remove the salt layer under the base.

The gearbox is proper filled with SAE 90 long life oil. If there is a leak of oil from the body , it will be necessary to disassemble and replace the seals.
For this purpose , it is available a complete set of seals. At the beginning and at the end of the season , check the motor and control box, removing
eventual residues and covering the terminals with grease .

ORDERING SPARE PARTS

To identify a windlass spare parts see the spare part list. When ordering spare parts , please specify for the KOBRA model the code B.08.101 , give us
a complete model classification , the serial number , the item number and the quantity.
Contact the nearest authorised LOFRANS' distributor or directly LOFRANS' S.r.I. fax + 39 (039) 2004299 .



— WIRING DIAGRAM - 3 TERMINALS ELECTRIC MOTOR
Lofrans'= s DIAGRAN -3 > FLECTRIC MOTO

W INDLASSESI C ___ 1

REMOTE CONTROL VEGA ROCKER SWITCH TYPE C

1To B2
EI ‘ | — 2 To Battery -+
3ToB3
4 ToBattery —
Mﬂmu_: |
:l o211 ToBattey

3 ToB3 X,
|

2 ToB2

FOOTSWITCHES
DOWN

up
011111 111
B2 B3

M = M2

CONTROL BOX A A !
" w
+

O

s = s
gl ® 3
white
CIRCUIT BREAKER
black

FUSE 5 A
O e

BATTERY




<~

Lofrans' .=

WINDLASSES N

KOBRA
code: B.08.101 Rev. A
date: 09—-2004




KOBRA

Item Description Kit | Q.ty Item Description Kit | Q.ty
209 Key - 6x6x30 Kit C 4 KA08101 Kit A - Seals 1
217 Hex hd screw M8x20 Kit B 2 KB08101 Kit B - Screw&Nuts 1
226 Washer for screw M8 Kit B 2 KC08101 Kit C - Keys 1
268 Nylon bush 4 KD08101 Kit D - Circlips 1
276a Gipsy chain 6 Iso - Din 766 1
276b Gipsy chain 7 Iso - 1/4" G40 1
276¢ Gipsy chain 8 Iso - Din 766 - 5/16" BBB 1
276d Gipsy chain 5/16 G40 1
276e Gipsy chain 10 Iso - 3/8 G40 1
276f Gipsy chain 3/8 Din 766 - 10 Din 766 1
2769 Gipsy chain 3/8 BBB 1
276h Gipsy chain 3/8 PC 1
277 Clutch cone - inner 1
307 Spring washer for screw M6 Kit B 2
308 Washer for screw M6 Kit B 2
311 Thrust bearing - 51105 1
312 Circlip - 43 Din 472 Kit D 1
313 Seal - 25x43x9 Kit A 1
314 Key - 5x5x15 Kit C 1
315a Electric motor 700W 12V 1
315b Electric motor 700W 24V 1
315c Electric motor 1000W 12V 1
315d Electric motor 1000W 24V 1
316 O Ring seal - 117 Kit A 2
317 Wingnut 1
318a Clutch cone - outer 1
318b Clutch cone- outer (for gipsy type e-f-g-h) 1
319 Seal - 25x42x6 Kit A 2
320 Hd cap screw - M6x16 Kit B 4
321 Cover 1
322 O Ring seal - 4437 Kit A 1
323 Bearing - 6005 2
324 Circlip - 25 Din 471 Kit D 3
325 Washer 1
326 Spring 1
327 Dog clutch 1
328 Wormwheel 1
329 Main shaft 1
332 Pawl 1
333 Spacer 1
335 Stripper 1
336 QOil plug 3/8” 1
339 Nylon washer 1
340 Emergency wheel 1
341 Emergency dog clutch 1
342 Spring 2
343 Drum 1
344 Washer 1
345 Hex hd screw M6x20 Kit B 1
352a Handle 1
357 Nylon washer for screw M6 Kit B 2
359 Cap nut M6 Kit B 2
369 Washer for screw M10 Kit B 1
460 Hex hd screw M10x20 Kit B 1
471 Body 1
472 Bearing - 16100 1
473 Worm 1

B.08.101 - Rev. A Date: 11-2004




"S¥MIAHLO0

G/ 20 SONASNUIBSSBY\ PI0Jpag maN
Yied [eLISNU] PI0Jpag MaN - PAIG JoUIeg [aNWES 0F
NOILYH0dH0 YdLINI

v'En

INQUIBIS| — SN JajaLLa|

9¢ 1sa)Is 1AeUBS UnU N|OA Jaua|esIa) IS ¥azQ

IS PITIILOA'UBS MITIDZINIA [OMEYD
ATNIL

28501 uemie] lade] - 806-/8 og '0'd
G09S ‘PROY 1SBT UBYS UIN 691 G 4G aInS
‘LT 3NIYVIN 0INID

NVYMIVL

UeusH 06 Ob¥
21 xog - uabeasbelalg

JIQ4ONTVL
NIaIms

(eU0JI9) S|OXNIY 8P NI|3d JUeS 0Z2/ |
G//¢/ ezzobelez eapy

V'S VSYNWI

euo|3d1eg 71080

01 A g sepejunpy

V'S WYSHYIN YH3TIA TVIELSNANI V1
NIVdS

umo ade)-pue|i3 uspieed (zy/
281%08 (0'd - 1981S 81IUS}asI0Q 6
L7 (ALd) INIEYIN 43IMOd 8 XANYIN
Vvaled4dv HLMNOS

19¢z a10debuis umo| Buoinp
UBSNIa| UB[Rl 9Z ‘ON

‘Al 31d (S) INYYIN NYOIINY
FHOIVENIS

20GSIT 00V |
/¥ 2/1 SBIQ Nawiojo}eg eny
HOOILNYN

IvarniLyod

¢huey iz 1

YIdNZyN
anviod

A8 SSVIANIM VvV 40 NOILO313s ¥0o4d

9 07S0 8090

usko] 9062 SHOCASOd - 81 "9 SOWHOH JloY
'SV T04INOD ONT3L

AVMHON

1sadepng 9201 H
¢ OIN ,0SI0

‘00 4IMONIN
AAVENH

Wepsiyas pg Geie
FLG JeliSIoq04

‘NN N3ANO0 N3a Sn13A
S5ANVvI143d3aN

0} PUBPINY-PBOY UojUILIOQ
py101 X089 0'd

ANIHYINOYNT
aNVv13Z M3IN

BaWNON

102 'd "g-selulodsaq Hod np 81y ‘0,
ANIHYIN NISNOIT
JINO3ITVI MIN

BPIS| 18911 BIRIIAJRISA|
90B[Rd 810X Bl

J4INIT INIHYIA TYNOILYNHILNI
VLTV

unoiAag 68€8 'd'd

NOISN441d INIHYI
NONVE31

€GYEY NIAY [3] — IS UOXIBABH 69|
WLEYY JBXIM Ly |

ALT3NIAYIN SILNYILY
1IVvHSI

ONOY ONOH SalolILIa] MaN

Bujued - anuag ujoour - 4/9 9 uun
193115 Buny diA 0g

‘AL7 9NIYIINIINT 3 INIHYIN 0913
NOXY NOH

Snaelld |€ G681
‘11§ SNOJBY208T G

ANV X3V
Fa33yg

F191SNOdS3I™

38 AVM ANV NI 10N SI SNVd™407]

uswalg 6618¢

GZ 1S 18UayaIquas|ay
an’s
ANVWHIT

6 Xapan uojno
1S3 uoinoy 'z
ANIAYIN NOISN4410 TvdIA

18819 ¢/¢6e

Ev¢ 3IBIS0d 9310 - dUB|g UINON NP HOd-dIZ
SB|0)- Ule)y any

V'S INIES

£00g B7-S8UUR) 05190
auIgnoY B| 8P ANUBAY ‘pi7 |
YATH

3||1aSIel\ LO0E
XIed B| 8p any ‘g
THY'S ONILHIVA-0LNY-0I410313

O[BIN-1uleS J0vSE
901 9[eIsod aiog - uinoil-Aenbng 1enp ‘1

V'S 10INY

nal|spueiN 01¢90
Aigdnx7 JuIes anusAy 088

(dvNd39 39V TIILSYOIV
FONVS

L PUISIBH 11200
9y X0g '0'd

gv ILIYVIA AO
aNVvINI4

d11 LN spag uon

RemsBury ‘ayeisy [erisnpu - Aemsbury g H iun
‘ALTSNOS '8 HLINS 03

aNvI1gN3

0l1R) - Ya|eLe7
1S Sy paweyop (v) 11

‘J'y'S Ajddng pue uoisindold sutiepy 0SdYIN
1dAg3

allBA 0012 %A
apIalS | [aAsneyIaWIWOg

SV ANIYYIN AGTVd
XYVWNIA

|0SSBUWIT — 69 X0g 0’
asNoH sapiueydiQ - Ay J|aASOOY UIjURl] ‘G|
‘AL7 ANVJINOD SHIAID AHNOYAN
5MNMdAT

Ale)-91s9u] vE 7€

9¢ OIALIIDIEA BIA

T4S HYININA

VYANIAOTS- VILVYOMT

uslee|\ 1S - ABg 8107 - PROY JUOLIAIRM §6Z
7Ey X089 '0'd

‘AN 3NIHVIN 139dN4

NVIEEI12vT

3J118U8] ap ZNnIJ BIURS (808
LEp0} 08109 8p “dy

166110 0w8qoY - 1SIAHON
SANVIS! AMVYNVI

€3¢ XGA D' J8AN0OUBA
18811S OLBIUD V618

‘P S3SI4dHIINT INIFYIN QHOMI
YavNva

(uadiamjuy) usyoqoH 0992
798-868 Danuaa)sasp.euIag 13

‘NN H3INAH
wrnigi13g

BUIBUB|

1¢69¢ x0d '0'd

S340LS INIYVIN 000¢

F719 NVIGVAY - NIVYHVE
33SUapog B PIeH |/69 - Y

G asselisuajeH

NNVINLEYH

PIeH 1269 - 8¢ punibuali3

HAWY T43HISY'D
VIMLISIV

'Sy"'Sg - OpUeWIa4 "S 9¥91 - 861 OIINF 3P 6
“01Y'S INOHd3d "d 09ININOA
VYNILNI SV

NOILVZINVSOd0O S371vS .SNvdd0T





